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Ve AL R

EFRAS R H S
20194 7 H
Y& AE
S Hem R E® R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FFEEH — B/NERPEE(BEFREERENRREE)
ek 2.277 0.002 - 0.074 0.009 =
S TR 1.512 0.019 - 0.373 0.084 =
/b= (HCI) 4.545 0.006 - 0.233 0.121 s
mIbE (HF) 0.306 0.002 - 0.125 0.046 s
— A bmi (SO2) 15.147 0.090 - 3.923 2.590 =
—&Ei% (CO) 7.578 0.000 - 0.123 0.012 =
FALY) (NOx)
PLZEEE (NOy) 30.303 1.056 - 12.305 3.746 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
et 0.756 0.004 - 0.020 0.009 =
S T 0.756 0.040 - 0.160 0.084 =
/b= (HCI) 0.756 0.088 - 0.158 0.121 s
mIbE (HF) 0.072 0.027 - 0.059 0.046 =
— A bk (SO2) 3.789 1.669 - 3.190 2.587 =
—&Ei% (CO) 3.789 0.002 - 0.021 0.012 =
HAY) (NOx)
PAIZE EE (NOy) 15.147 1.441 - 7.417 3.750 =
SR
28 HEmRE"Y RS S R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0014 =
ER AT 0.0378 <0.0062 =
IR R ) 7.575 x 10° <6.902 x 10 2
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EFRAS R H S
20194 7 H
Y& AF
S Hem R E® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
feokr® 2.277 0.002 - 0.593 0.007 =
S TR 1.512 0.000 - 0.330 0.050 =
FJLFE (HCI) 4,545 0.051 - 0.222 0.147 s
mIbE (HF) 0.306 0.006 - 0.098 0.042 s
— A bmi (SO2) 15.147 0.003 - 3.919 2.295 =
—&Ei% (CO) 7.578 0.000 - 0.149 0.044 =
FALY) (NOx)
PLZEEE (NOy) 30.303 0.613 - 11.590 2.502 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
o™ 0.756 0.003 - 0.072 0.007 =
S T 0.756 0.000 - 0.137 0.050 =
/b= (HCI) 0.756 0.120 - 0.177 0.147 v
mIbE (HF) 0.072 0.026 - 0.051 0.042 s
— A bk (SO2) 3.789 1.428 - 2.771 2.294 =
—&Ei% (CO) 3.789 0.005 - 0.103 0.044 =
HAY) (NOx)
DLI=&/EE, (NOy) 15.147 1.498 - 5.053 2.502 =
SR
S8 HEmRE"Y RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0012 =
HeEpe™ 0.0378 <0.0052 =
I R g™ 7,575 x 10° <5.892 x 10 =
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EFRAS R H S
20194 7 H
Y& BE
S Hem R E® R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
ek 2.277 0.001 - 0.018 0.002 =
S TR 1.512 0.001 - 0.363 0.063 =
/b= (HCI) 4.545 0.018 - 0.119 0.067 s
mIbE (HF) 0.306 0.005 - 0.083 0.036 s
— A bmi (SO2) 15.147 0.131 - 6.642 1.847 =
—&Ei% (CO) 7.578 0.000 - 0.063 0.026 =
FALY) (NOx)
PLZEEE (NOy) 30.303 0.537 - 7.688 2.568 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
et 0.756 0.001 - 0.002 0.002 =
S T 0.756 0.029 - 0.118 0.062 =
/b= (HCI) 0.756 0.059 - 0.081 0.067 s
mIbE (HF) 0.072 0.029 - 0.041 0.036 s
— A bk (SO2) 3.789 1.424 - 2.123 1.849 =
—&Ei% (CO) 3.789 0.014 - 0.047 0.025 =
HAY) (NOx)
LIS (EE (NOy) 15.147 1.671 - 3.455 2.583 =
SR
S8 HEmRE"Y RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0013 =
EER el o 0.0378 <0.0058 =
I R g™ 7.575 x 107 <6.50 x 10 =
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EFRAS R H S
20194 7 H
&% BF
S Hem R E® R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
ek 2.277 0.001 - 0.351 0.004 =
S TR 1.512 0.000 - 0.122 0.030 =
/b= (HCI) 4.545 0.004 - 0.107 0.067 s
mIbE (HF) 0.306 0.000 - 0.056 0.034 s
— A bmi (SO2) 15.147 0.055 - 2.506 1.777 =
—&Ei% (CO) 7.578 0.000 - 0.107 0.033 =
FALY) (NOx)
PLZEEE (NOy) 30.303 0.346 - 4.610 1.428 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
et 0.756 0.002 - 0.019 0.004 =
S T 0.756 0.004 - 0.061 0.030 =
/b= (HCI) 0.756 0.041 - 0.093 0.067 s
mIbE (HF) 0.072 0.027 - 0.038 0.034 =
— A bk (SO2) 3.789 1.562 - 1.900 1.775 =
—&Ei% (CO) 3.789 0.019 - 0.053 0.033 =
HAY) (NOx)
LIS (EE (NOy) 15.147 0.870 - 2.120 1.417 =
SR
S8 HEmRE"Y RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0013 =
EER el o 0.0378 <0.0057 =
I R g™ 7.575 x 107 <6.516 x 10 =
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() EEGERELURE HRIER - BB Ry 101.325 kPa » sg iR Fat BA%E - LIRS
A& 11% RBSHEEIEIE -

(if) R FTIR AL T - BIZE5R VAL T > HARR A B E AL Ry 10um B/ -
(iii) fERHT 30 o8 foie = 8 /NRFHUBHANHYFEE - BREEE ~ B ~ &% ~ 56 - 83~ 81~ &f - SR -
(iv) 1£ 6 2 8 /NEFHURIINEYFH(E -



